
10th November                                                     10th November                                                     

Jennifer is paid £7 an hour.
Kate is paid £8 an hour.

On a Saturday, Jennifer works 7 
hours and Kate works 6 hours.

Who earns more?

List the first five multiples of 8.

How long is the train journey from Lisburn 
to Balmoral?

Draw a shape with 4 lines of symmetry

Express 50p as a percentage of 
£10.

Name: ______________                                    5-a-day                                               Numeracy
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